Tutorial 10 Answer

1 The following class B address 150.100.0.0 has a subnet mask of 255.255.255.128. State the following information for the first 4 valid subnets : (a) subnet network address, (b) host IP address range and (c) subnet broadcast address.

Answer

	Subnet network

address
	150.100.0.128
	150.100.1.0
	150.100.1.128
	150.100.2.0

	Host IP address

range
	150.100.0.129-

150.100.0.254
	150.100.1.1-

150.100.1.126
	150.100.1.129-

150.100.1.254
	150.100.2.1-

150.100.2.126

	Subnet broadcast address
	150.100.0.255
	150.100.1.127
	150.100.1.255
	150.100.2.127


2 Discuss the advantages and disadvantages that the re-assembling process of a fragmented Internet datagram to be taken place at its destination versus at intermediate points on its path to the destination.

Answer

Intermediate reassembly requires computing and buffer resources at intermediate routers. Further all segments of a given message would have to pass through the same intermediate node for reassembly, prohibiting dynamic routing. Destination reassembly means that the message must be segmented into the smallest allowable MTU along the route. This can cause performance degradation in networks where this MTU is "too small".

3 In IP datagram, the checksum covers only the header and not the data. What do you think why this design is being implemented ?

Answer

An error in the header is much more serious than an error in the data. A bad address, for example, could result in a packet being delivered to the wrong host. Many hosts do not check to see if a packet delivered to them is in fact really for them. They assume the network will never give them packets intended for another host. Data itself is not checksummed because doing so is expensive, and upper layers often do it anyway, making it redundant here.

4.
2 clients X and Y are going to access a Web server W. Suggest the possible port numbers (both source and destination) for :

a. Segments from X to W.

b. Segments from Y to W.

c. Segments from W to X.

d. Segments from W to Y.

e. If X and Y are on different machines, can their source port numbers be the same ? Explain.


f. If X and Y are on the same machines, can their source port numbers be the same ? Explain
Answer

	
	Source Port No.
	Destination Port No.

	a) X ( W
	2000
	80

	b) Y ( W
	3000
	80

	c) W ( X
	80
	2000

	d) W ( Y
	80
	3000


e) Yes, as IP addresses of 2 machines are different. 

f) No, cannot identify which processes the packet should be delivered.

